=

h
/ f BEERH & : ABSHAS
FOERHE - SWCH
D AALAAALAN S «
RO AV = @oOA—k
/
A
= T =

mE RLEM) L D H H1 o] mE RALEM) L D H H1 o]
TGKB1A-M3X10 M3 10 | 16 12 2 11 TGKB3A-M5X20 M5 20 | 25 18 6 19
TGKB1A-M3X15 M3 15 | 16 12 2 11 TGKB3A-M5X25 M5 25 | 25 18 6 19
TGKB1A-M4X10 M4 10 | 16 12 2 11 TGKB3A-M6X15 M6 15 | 25 18 6 19
TGKB1A-M4X15 M4 15 | 16 12 2 11 TGKB3A-M6X20 M6 20 | 25 18 6 19
TGKB1A-M5X10 M5 10 | 16 12 2 11 TGKB3A-M6X25 M6 25 | 25 18 6 19
TGKB1A-M5X15 M5 15 | 16 12 2 11 TGKB4A-M8X15 M8 15 | 32 18 6 24
TGKB1A-M5X20 M5 20 | 16 12 2 11 TGKB4A-M8X20 M8 20 | 32 18 6 24
TGKB2A-M5X15 M5 15 | 20 | 14 4 15 TGKB4A-M8X25 M8 25 | 32 18 6 24
TGKB2A-M5X20 M5 20 | 20 | 14 4 15
TGKB2A-M6X10 M6 10 | 20 | 14 4 15
TGKB2A-M6X15 M6 15 | 20 | 14 4 15
TGKB2A-M6X20 M6 20 | 20 | 14 4 15

YERZ H YERRE 4 eiid

2024.07.30 yii TRUSCO Ihaz:lqu**ﬂg*i gy FTITRILE TGKBY)—X




